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SECTION-A
(MENTAL ABILITY)

1.

Which one of the following is the correct
electronic configuration of chlorine?

(@278 (b)2,8,7
(c)2,8,8 (d)7,8,2

The number of valence electrons in the O%
ion is:
(a) 4
(c8

(b) 6

(d) 10

In honey, which one among the following
sugars predominates?

(a) Surcose
(c) Galactose

(b) Fructose
(d) Maltose

Within an animal cell, the most abunadant
inorganic constituent of protoplasm is:

(@) Sodium and potassium salt
(b) Water

(c) Iron

(d) Phosphate

During short-circuiting, the current flowing
in the electrical circuit

(@) Reduces substantially

(b) Does not change

(c) Increases instantaneously
(d) Vareis continuously

Two conducting wires A and B are made of
same matrial. If the length of B is twice that
of A and the radius of circular cross-section
of A is twice that of B, then their
resistanece Ra and Rg are in the ratio:

@2:1 (b)1:2
(c)1:8 d)1:4

The number of aluminium ions present in
54 g of aluminium (atomic weight 27) is:

(a) 2 (b) 18
(c) 1.1x10% (d) 1.2x10*

(2]
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10.

11.

12.

13.

14.

15.

The latest discovered state of matter is:

(@) Solid
(b) Bose-Einstein condensate
(c) Plasma (d) Liquid

What is ‘breakbone fever’ most commonly
known as?

(@) Typhoid
(c) Yellow Fever

(b) Rhinitis
(d) Dengue

After diagnosis of disease in a person, the
doctor advise the patient iron and folic acid
tablets. The person is suffering from

(a) Osteoporosis (b) Anaemia
(c) Goitre
(d) Protein energy mainutrition

Which one among the following is the coral
group of islands of India?

(@) Andaman (b) Nicobar
(c) Minicoy (d) Lakshadweep

Van de Graaf generator is used for
(a) Accelerating charged particles

(b) Generatig large currents

(c) Generating electric field

(d) Generating high frequency voltage

The most stable form of carbon is :
(a) Diamond (b) Graphite
(c) Fullerent (d) Coal

Which one among the following is not a
sexually transmitted disease?

(@) Syphills (b) Gonorrhea
(c) Scurvey (d) Hepatitis B

The summer and winter season in a year
are caused by

(@) Aphelion (farthest) and perihelion (nearest)
postion of the Earth from the Sun during
the annual revolution

(b) Rotation of the earth on its axis
(c) Variation in solar insolation
(d) Revolution of the Earth on its inclined axis

10.

11.

12.

13.

14.

15.
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SECTION-B
(ENGLISH)

16.

17.

18.

19.

20.

21.

22.

23.

24.

Choose the correct synonym of the given
word from the option given below.
DEPOSITION
(a) Ascent

(c) Impeachment

(b) Employment
(d) Coronation

Choose the best antonym of the given word
from the options given below.

EQUIVALENT
(@) Comparable (b) Dissimilar
(c) Parallel (d) Identical

Choose the best antonym of the given word
from the options given below
CONTROVERSY

(a) Argument (b) Difference

(c) Agreement (d) Quarrel

Choose the MISSPELT word.
(a) Preservence (b) Possession
(c) Reference (d) Restarant

Choose tge MISSPELT word.
(@) Abundance (b) Absence
(c) Acclaim (d) Advertisement

Complete the sentence with the most
appropriate word. Students are not
expected to leave without .
(@) Tolerance (b) Indulgence
(c) Permission (d) Freedom

Complete the sentence with the most
appropriate word. I always arrive to class
twenty minutes so that | have
time to prepare.

(@) Late (b) Early

(c) Later (b) Behind time

Complete the sentence with the most

appropriate word. Making pies and cakes
Mrs. Kumar’s specially

(@) Have (b) Is

(c) Has (d) Are being

The following sentence is divided into four
parts (P, Q, R and S). Rearrange it in the
proper sequence in order to make a
meaningful sentence. (P) or car racing tests
(Q) And a car’s power (R) Automobile
racing (S) Both a driver’s skill

(@) RPSQ (b) QPSR

(c) RSPQ (d) SQPR

25.

26.

27.

28.

29.

30.

(4]

The following sentence is divided into four
parts (P, Q, R and S). Rearrnage it in the
proper sequence in order to make a
meaningful sentence (P) That is closely
related to the peach tree (Q) Almonds are
commonly called nuts (R) But they are
actually seeds (S) And they come from a
tree

(@) RPSQ
(c) SQPR

(b) QRSP
(d) SQPS

Choose from the four options, the word
that best defines/substitues the given
phrase. “A place where ships load and

upload goods”
(a) Port (b) Terminal
(c) Coach (d) Hangar

Choose from the four options, the word
that best defines/substitues the given
phrase. “The scientific study of the mind”
(@) Philology (b) Psychology

(c) Sociology (d) Anthropology

Choose from the four options, the word
that best defines/substitues the given
phrase. “A person or animal that eats all
kinds of food”
(@) Omnivorous
(c) Insectivorous

(b) Herbivorous
(d) Carnivorous

In the following question, some part of the
sentence may have errors. Find out which
part of the sentence has an error and select
the appropriate option. If a sentence is free
from error, select 'No Error’.

Soon as he (A)/saw the policeman, (B)/he
ran away, (C)/No error, (D) Option

(@ A (b)B

(©C (d)D

Rearrange the parts of the sentence in
correct order.

We are told that its

P-Public Distribution System
Q-creating a functional

R-sole purpose is the noble goal of

(a) QRP (b) RQP

(c) PRQ (d) PQR



SECTION-C
(PHYSICS)

31.

32.

33.

34.

35.

Pe

A planet in a distant solar system is 10 times
more massive than the earth and its radius is
10 times smaller. Given that the escape
velocity from the earth is 11 kms ™ the
escape velocity from the surface of the planet
would be:

(a) 1.1 kms *
(c) 110 kms !

(b) 11 kms !
(d) 0.11 kms*

A body of mass m = 3.513 kg is moving along
then x-axis with a speed of 5.00 ms—. The
magnitude of its momentum is recorded as

(a) 17.6 kgms * (b) 17.565 kg ms !
(c) 17.56 kg ms* (d) 17.57 kgms *

An athlete in the Olympic game covers a
distance of 100 m in 10 sec. His kinetic
energy can be estimated to be in the range

(a) 200 J—500J (b) 2x10°) — 3x10°)
(c) 20,000 J — 50,000 (d) 2,000 J — 5,000 J

Two full turns of the circular scale of a screw
gauge cover a distance of 1 mm on its main
scale. The total number of division on the
circular scale is 50. Further, it is found that
the screw gauge has a zero error of -0.003
mm. While measuring the diameter of a thin
wire, a student notes the main scale reading
of 3 mm and the number of circular scale
divisions in line with the main scale as 35.
The diameter of the wire is:

(@) 3.32 mm (b) 3.73 mm
(c) 3.67 mm (d) 3.38 mm

A cell has terminal voltage 2V in open circuit
and internal resistance of the given cell is 2Q
. If 4A of current is flowing between points P
and Q in the circuit and then the potential
difference between P and Q is

\/\/\/V\/\—oQ

4()
(b) 26V
(d) 24V

2V, 20
|
Y L
(@) 30v
(c) 22v

(5]
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32.

33.
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35.
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AT FIAT g AR FT A §

(a) 3.32 e (b) 3.73 faehr
(c) 3.67 (d) 3.38 faehr
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36.

37.

38.

39.

40.

41.

A proton and an alpha particle both are
accelerated through the same potential
difference. The ratio of corresponding de-
Brogile wavelength is:

(a) 2 (b) V2
1
() 242 (d) o

Laser light has following property

(a) Laser light is white light

(b) Laser light is highly coherent

(c) Laser light always lies in X-rays region
(d) Laser light does not have directionality
property

A particle is moving in translatory motion. If
momentum of the particle decreases by 10%o,
kinetic energy will decrease by

(a) 20% (b) 19%
(c) 10% (d) 5%

Which of the statement is incorrect about the
simple microscope?

(@) Magnification of microscope is inversely
proportional to the least distance of distinct
vision.

(b) A convex lens of microscope with shorter
focal length yields higher magnification

(c) Biology students use to see the slides

(d) It is not used for magnification of an object
at far away from the observer.

Surface tension of the liquid is S. Work done
in increasing the radius of soap bubble from
R to 3R at given temperature will be

(a) 87SR? (b) 167SR?
2
(c) 647SR? (d) 18”3SR

Suppose you drive to Delhi (200 km away) at
400 km/hr and return at 200 km/hr. what is
yours average speed for the entire trip?

(@) Zero (b) 300 km/hr
(c) Less than 300 km/hr
(d) More than 300 km/hr

(6]
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42.

43.

44,

45.

46.

47.

A system undergoes a reversible adiabatic
process. The entropy of the system

(@) Increases (b) Decreases
(c) Remains constant
(d) May increase or may decreases

A narrow white light beam fails to converge
at a point after going through a converging
lens. This defect is known as

(a) Polarization

(b) Spherical aberration
(c) Chromatic aberration
(d) Diffraction

A student’s 9.0 V, 7.5W portable radio was
left on from 9:00 P.M. until 3:00 A.M. How
much charge passed through the wires?

(a) 6000 C (b) 12000 C
(c) 18000 C (d) 24000 C

Which of the following material has lowest
resistivity?

(a) Constantan
(c) Manganin

(b) Silver
(d) Copper

A sound wave is generated by the howl of a
wolf in the night. How would we describe the
motion of a particular air molecule near the
ground, a mile away from the wolf, on
average (i.e. ignoring the random wandering
of gas molecules)?

(@) It moves up and down in an oscillating
fashion

(b) It moves aay from the wolf at the speed of
sound

(c)It moves back and forth (oscillating) towards
the wolf

(d) It moves in the horizontal circle.

A 3Kkg objects has initial velocity (6?— 2j)
m/s. The toal work done on the object if its

velocity changes to (8?—4j) m/s is:

(a) 60J
(c) 216 J

(b) 1203
(d) 44]

(7]
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44,

45.

46.
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48. An incompressible non viscous fluid flows

steadily through a cylindrical pipe which has
radius 2R at point A and radius R at point B

farther along the flow direction. If the
velocity of the fluid at point Ais V, its
velocity at the point B will be:

(@) 2V (b) V
() V/2 (d) 4V

49. Aforce F = 75N is applied on a block of mass
5kg along the fixed smooth incline as shown
in figure. Here gravitational acceleration g =

10m/s?. The acceleration of the block is:

O

30

@ sz downwards the incline
S

(b) SSE2 upwards the incline

(©) 1Om2 downwards the incline
S

(d) 1Om2 upwards the incline
S

50. Shown in the figure adjacent is a meter —
bridge aet up with null deflection in the
galvanometer. The value of the unkown
resistor R is:

550 R
— VNV

| | O ©
(a) 13.75Q (b) 22002
(c) 1100 (d)55Q

(8]
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S

2
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O O

(b) 220Q
(d) 550

(a) 13.75Q
(c) 110



SECTION-D
(CHEMISTRY)

5l.

52.

53.

54,

55.

56.

S7.

The decreasing order of electron affinity
is:

@F>CI>Br>1
(c)1>Br>CI>F

(b) CI>F>Br>1
d)Br>Cl>F>1I

The isomerism exhibited by following
compounds | Co(NH,), |[ Cr(CN), Jand

[Cr(NH,), [ Cr(CN), |is:
(a) Linkage isomerism

(b) Coordination isomerism
(c) lonization isomerization
(d) Polymerisation isomerism

For the reaction
2S0, +0, (excess) — 2SO, the order of

reaction with respect to O; is

(@) Zero (b) One

(c) Two (d) Three
Friedel — Craft reaction is not related
with:

(@) Sulphonation
(c) Acylation

(b) Nitration
(d) Reduction

Milk is an emulsion in which:
(@) Milk fat s dispersed in water
(b) A solid is dispersed in water
(c) A gas is dispersed in water
(d) Lactose is dispersed in water

Micelles are:

(@) Gel

(b) Associated colloids
(c) Adsorbed catalyst
(d) Ideal solution

For a non-volatile solute:
(a) Vapour pressure of solute is zero
(b) Vapour pressure of solvent is zero

(c) Vapour pressure of solution is more than
vapour pressure of solvent

(d) All of the options

(9]

ol.

52.

53.

54.

55.

56.

57.
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(
(c) AT FHTIIA
(

d) qg«q?lqawl AT

wfAfFar 2SO, + O, (excess) - 2SO, &

faw O, & wegst (wmdey) & wfAfFar
e ¥

(a) = (b) TH

(c) a (d) e
wIsa-wve FAATFAT Frafaf@a & @
wFafa 78t 8

(a) TeHIfIaIoT (b) FATSEIHIOT
(c) ufaferaoT (d) 39TTeT

gy wF 9w ¢ oA

(a) QU T TET T STel # IREIVT @l &
(b) TF B HT STl H IREIIUT IET ¢
(c) T T F T A IR&I9or | §
(d) dFST T Tl H IREIIOT T{T §

e

(a) stef (b) TEIRY Press
(c) HAMVT 3P (d) e e
& areafier QT & o

(a) faorT &1 aTSUE F @ &
(b) faemIe & arSUEd T BT §
(c) faerae &1 arsUere fdeaes & arsde &

& g &
(d) ¥ v T3 fawed TET &




58.

59.

60.

61.

62.

63.

Which one is not the property of
crystalline solid?

(a) Isotropic

(b) Sharp melting point

(c) A definite and regular geometry
(d) High intermolecular forces

The number of ione pair(s) of electrons
on the central atom in [BrF,] , XeF,and

[SbCl,]" are, respectively

(@2,0and 1 (b) 1,0and 0
(c)2,1and 1 (d)2,1and0

When Gringnard reagent with ketone it
yields

(a) 1° alcohol
(c) 3° alcohol

(b) 2° alcohol
(d) Ethanol

Formula of Bleaching powder is:
(a) CCI,CHO (b) CaOCl,

(c) Ca(OH), (d) CHCI,

The geometry around the central atom in
CIF, is

(a) square planar

(b) square pyramidal

(c) octahedral

(d) trigonal bipyramidal

Among the following, the equilibrium
which is NOT affected by an increase in
pressure is

(a) 2S0,(g)=2S0,(g)+0,(9)
(b) H,(g)+1,(s)==2HI(g)
(c) C(s)+H,0(9)e=CO(g)+H,(9)

(d) 3Fe(s)+4H,0(g)—=Fe,0, (s)+4H,(9)

[10]

58.

59.

60.

61.

62.

63.

Flerar v frreea 3t 1 aor A 82
(a) THCRS

(b) cheor AR fag

(c) AR vd afAa sarfad

(d) 3T HecRI0ad Fof

[BrF,] , XeF, @t [SbCl,]” & &=
AT W THHT Saacd JeAT A FE&dT §
HHATA:

(a) 2, 0 @ 1 (b) 1,0 @0
(c)2,1aurl (d)2,1Tar0
Ja fFreed affwds fela a sfafFar
T & at ureT @ ¥ -

(a) 1° Teplgd (b) 2° TeplEd
(c) 3° Uemlgel CIRLGIES
Selfaier uIE3st 1 §F ¢

(a) CCI,CHO (b) CaOCl,

(c) Ca(OH), (d) CHCI,
CIF, & R WA ¥ 9RT 3R safafe
¥

(a) T AT

(b) T RufafsT

(c) 3rSTHeThI T

(d) P Rufafsa

e de W AT & @ &l 11 9y
TR oTdl T &

(a) 250, (9)<—2250,(9)+0,(9)

(b) H,(9)+,(s)==2HI(g)

() C(s)+H,0(9)e==C0O(g)+H,(9)

(d) 3Fe(s)+4H,0(g)—=Fe,0,(s)+4H,(9)



64. In the manufacture of ammonia by
Haber’s process

N, (9)+3H, (g)e==—2NH, (g)+92.3kJ

Which of the following condition is
unfavourable?

(@) Increasing the temperature

(b) Increasing the pressure

(c) Reducing the temperature

(d) Removing ammonia as it is formed

65. What is pH of 2x10®° molar HCI

solution?

Here log2 = 0.301 and log3 = 0.477
(@) 5.4 (b) 7.7

(c) 6.92 (d) 9.5

66. What will happen if a cell is placed into
0.4% (mass/volume) NaCl solution:-

(@) Cell will swell

(b) Cell will shrink

(c) There will be no change in cell volume
(d) Cell will dissolve

67. When a liquid that is immiscible with
water was steam distilled at 95.2°C at a
total pressure of 99.652 KPa. The
distillate contained 1.27 gm of the liquid
per gram of water. What will be molar
mass of liquid if the vapour pressure of
water is 85.140 KPa at 95.2°C?

(a) 134.1 gm mol™
(b) 105.74 gm mol™
(c) 99.65 gm mol™
(d) 18 gm mol™

68. Which one of the following is not a unit of

energy?
(a) Nm (b) kg ms™
(c) lit-atm (d) kg m%s™

[11]

64. ¥R THA F E@RT IAAAT F FH T F
N, (g)+3H, (9)e==2NH,(g)+92.3kJ
fret % ¥ F W od ofga ¥
(@) a9 seelr (b) SIS &7 ToaT
(c) a9 &r "gear
(d) 3ERT ¥ FFET & e sH P

65. 2x10°#AreR HCI faegsr i pH a1 ghit?
gl log2 = 0.301 wa log3 = 0.477

(@) 5.4 (b) 7.7
(c) 6.92 (d) 9.5

66. FT AT § ARG wF FIRAF Fr 0.4%
(gegaTe / 3mgaeT) NaCl feasr & @r srar
&2
(a) IfrerT B gref
(b) AT s SN
(c) PP & JITT H HIg IRTdA AGT
T
(d) ifewr faerT g SRl
67. TF gd ol oo & JPseT & o9 3mwaeTr
95.2°C 9T aur F g 99.652 KPa 9T
frar o | Iga & 99 F YRAF AT FAY
&a &1 1.27 gm 3ufeya | I ster &7
arsgee 95.2°C @X 85.140 KPa §, ga &1
AR GSTATT FAT ERM?
(a) 134.1 gm mol™
(b) 105.74 gm mol™
(c) 99.65 gm mol™
(d) 18 gm mol™

68. 5T & ¥ Fia W FaT Y sFE AT 872
(@) Nm (b) kg ms™
(c) lit-atm (d) kg m%s™



Cl CH:s Cl CH:
69. Compound  \ / has the 69. aw \. 7 P -
C=C P
g S o H C:Hs
2r1s 1 %
following prefix
(@ E (b) Z (@) E (b) Z
(c) trans (d) Anti (c) | (d) T
70. The structure of carboxylate ion id best 70.  FrEffFEAC A FY FIGAT FT FIX DT
represented as: foreqor §-
0) i1 o
@) —( 0 _ & 7 @ —C 7 0y —C%
o No No~ No
_ _ _ o)
o) O O Vs
o— a—c ©_& @ —C
c) — s —
_ N,
AN 5 s o O
SECTION-E
(MATHEMATICS)

71. The sum of an ifinite GP is x and the
common ratio r is such that |r| < 1. If the
first term of the GP is 2, then which one of
the following is correct?

(@ -1<x<1
() 1<x<w

(b) —o<x<1
(d) None of the above

72. A box contains 3 white and 2 black balls.
Two balls are drawn at random one after
the other. If the balls are not replaced,
what is the probability that both the balls

are black?
(@) 2/5 (b) 1/5
(c) 1/10 (d) None of the above

73. For two variables x and y the two
regression coefficient are b, =-3/2and

b, =—1/6. The correlation coefiicient

yX
between x and y is:
(@) -1/4 (b) Ya
(c)-1/2 (d) ¥

71. & ¥eid GP # Fhrwher x § 3R W
r¥ar g #rrj<1 g IRGP FT 9UA7 ug 2
?, A @ & @ S @ T 2
(@ -1<x<1
() 1<x<w

(b) —o<x<1

(d) 39hFT & F I G

72. 0% S50 & 3 Whe 3T 2 Freh A @ & A
TREFAT T & 915 TF AFel St B
iy Gt & el g A TREwar F4r 82
(a) 2/5 (b) 1/5
(c) 1/10 (d)mﬂﬁﬁﬁﬁéﬂﬁ

73. &Y = x AR y & AT & FHPA TUTIH
b, =-3/23R b, =-1/6.% x 3y &
(a) -1/4 (b) %
(c)-1/2 (d) ¥

[12]



74.

75.

76.

77.

78.

79.

80.

What is the mean of the squares of the
first 20 natural numbers?

(a) 151.5 (b) 143.5
() 65 (d) 72

p, q, I, s, t are numbers such that the
average of p, g and r is 5 and that of s and
tis 10. What is the average of all the five
numbers?
(a) 7.75

(€7

(b) 7.5
(d) 5

The cumulative frequency of the largest
observed value must always be:

(@) Less than the total number of observation

(b) Greater than the total number of
observation

(c) Equal to total number of observation

(d) Equal to mid-point of the last class
interval

It has been found that if A and B play a
game 12 times, A wins 6 times, B wins 4
times and they draw twice. A and B take
part in a series of 3 games. The
probability that they win alternately, is:

(2) 5/12 (b) 5/36
(c) 19/27 (d) 5/27

Out of 7 constant and 4 vowels, words are
to be formed by involving 3 constants and
2 vowels. The number of such words
formed is:

() 25200
(c) 10080

(b) 22500
(d) 5040

How many different words can be formed
by taking four letters out of the letters of
the word ‘AGAIN’ if each word has to
start with A?

(@6 (b) 12
(c) 24 (d) None of the above
. X
What is lim ————= equal to?
x—0 a\/l—cosx g

(@) V2 (b) —2

1 . .
Cc) — d) Limit does not exist
() 7 (d)

[13]

74.

75.

76.

77.

78.

79.

80.

YA 20 Tl HEAT F FAT FT ATCT FAT
87

(a) 1515
(c) 65

(b) 143.5
(d) 72

Ui HEAE p, q, 1, S, L] 30 9AR 5 p, g
3k r &1 3itwa 5 &, 3k s 3l tar silaa 10
g ot graY ATt &1 sitaa w4 82

(@) 7.75 (b) 7.5

()7 (d)5

¥edd IfAd A A TN IRIRAT T FAT
gt =rfge?

(a) Y&TUTr T For TEAT § HA

(b) vefoll T Fe FEer F HfAw

(C) S&TUT &Y Fol FEAT & SR

(d) 3 T e & ARG & TR

IRAINRBFE AT 12 IR Qed &, @ T§
9T ST & fF A, 6 R sfiaar ®, B, 4 9R
shaar § 3k & R rfaoifa wwa 3 A 3k
B, 3 @a A sj@er # fFar AQ B 3%
T-ar ¥ shaa A wlRwar = 32

(a) 5/12 (b) 5/36

(c) 19/27 (d) 5/27

7 OSiel 3T 4 TRI A @ 3 s¥orar AR 2
Tl H AT s T §] TH PR qoF
Gl Y TEAT FAT 87
() 25200

(c) 10080

(b) 22500
(d) 5040

e ‘AGAIN’ & 3reTY & & 4 378/ AT
frasr RAffie=r e T4 ST 9Fa &, I
TAdF Meg A ¥ TR gr?

(a) 6 (b) 12

(c) 24 (d) 3uged & & HIS AL
. X

o J1—cosx e oA ¥

@ V2 (b) —V2

© % (d) BT T 3R T &



81.

82.

83.

84.

85.

86.

From an aeroplane above a straight road
the angles of depression of two positions at
a distance 20m apart on the road are
observed to be 30° and 45°. The height of
the aeroplane above the ground is:

(a) 103 m (b) 10(J§ —1) m
(©) 10(J§ +1) (d) 20m

1+sinA 1-sinA
1-sinA  1+sinA
(@) sec A-tan A

(b) 2sec A.tan A

(c) 4sec A.tan A

(d) 4cosec A.cot A

What is equal to?

1 .tan"tx

What is Je >—equal to?
o 1+x

(a) e* -1 (b) e4 +1

(c)e-1 (d)e

What is the slope of the tangent to the
curve y=sin™*(sin’x)atx =0 ?

(a) 0 (b)1

(c) 2 (d) none of the above

It is given that the events A and B are
4" \(B) 2 A) 3

Then P (B) is
1 1
(a) 5 (b) 3
2 1
(c) 3 (d) >

The first two terms of a geometric
progression add upto 12. The sum of the
third and the fourth terms is 48. If the
terms of the geometric progression are
alternately positive and negative, then the
first term is

(@)-4
(c) 12

(b) — 12
(d) 4

[14]

81.

82.

83.

84.

85.

86.

T it 3§ & IR TFH gas e & 39
WSH 9 20m YUF & TAEI & AT HI0T
30° 3k 45° 9ferd R oI | 9HE & W
§AT$ STETS 1 FATS FAT 82

(a) 104/3 m (b) 10(J§ —1) m
© 10(\/5 +1) (d) 20m

1+sinA 1-sinA

1-sinA  1+sinA g?cr%?
(a) sec A-tan A
(b) 2sec A.tan A
(c) 4sec A.tanA
(d) 4cosec A.cotA

1 _tantx

° ?Xﬁmﬂ; Gl

oy 1+X
(a) e* -1 (b) e* +1
(c)e-1 (d)e
x=0w aF y=sin"(sin’x)& weff A
YqUIaT F4T §7?
@o (b) 1
(c)2 (d) 3UgeFT # & IS 7

S HeATT A 9 B 50 UHR & T
P(A)=%,P[%j=%andP(%j=§ a9 P(B)

FT AT §

1 1
(a) g (b) §
2 1
(c) 5 (d) E

oitea’ Aol & 9UH &Y ga&l F1 AT 12 g
ey Tur @Y g FT ArwEa 48 B IR
Toice AN &F e FA A YA qur
HONCHAS ¢, a9 JIH U5 ¢

(a)—4 (b)-12

(c)12 (d)4



87.

88.

89.

90.

AB is a vertical pole with B at the ground
level and A at the top. A man finds that
the angle of elevation of the point A from
a certain point C on the ground is 60°. He
moves away from the pole along the line
BC to a point D such that CD = 7m. From
D, the angle of elevation of the point A is
45°. Then the height of the pole is:

T3
2(%—1)

2B (1)
© f(f 1)m

Ea

A die is thrown. Let A be the events that
the number onbtained is greater than 3,
Let B be the event that the number

obtained is less than 5. Then, P(Au B) is

m

(@)

(d)

3
@ ¢ (b) 0

©1 (d) %

How many different words can be
formed by jumbling the letters in the
word MISSISSIPPI in which no two S
are adjacent?

(@) 8.°C,. 'C,
(b) 6.7. °C,
(c) 6.8. C,
(d) 6. °C, °C,

Let a, b, ¢ be any real numbers. Suppose
that there are real numbers x, y, z not all
zerosuch thatx =cy + bz, y =az + cx
and

z=bx +ay

Then a® +b?® +c” + 2abc is equal to
(a) 2 (b)-1

(€0 (d1

[15]

87. AB TF 3taltR ¥aew § fowd B 3muR Reg

88.

89.

90.

aur A o 3| v afea gar § & 3mar
W fPyd v fAfRad fieg C & ofid A &1
3eeTasT FIr 60° 3| a8 =afda @1 BC &
e TN ¥ g g D aF 37 Y&
ST § FICD =7m & faeg A T owraer
FIor 45° B a9 TAEH Y FAE B
3

(8)2(\/5_1)

© 2B (&2)m
© i(ﬁ ~1)m

Pl

TFH 9T el ST 8] AT A, 3 ¥ J¥®
TEAT FA A UeAT § 94T B, 5 & A
HEAT IIod A $1 "ear @] a9, P(AL B)
FT AT &

3
€Y 5

m

(d)

(b) 0

2
1 =
(c) (d) c
g MISSISSIPPI & 3Rt 1 oo i
& fhde Ueg TATC ST TFha &, Oad F:E
A S oA 7 {72
(a) 8.°C,. 'C,
(b) 6.7. °C,
(c) 6.8. 'C,
(d) 6. °C, °C,

AET 3, b, ¢ A adfas FEIT §| AT
aEdfa® WEATT X, Y, z (T3t o E )
W YHR § Y x=cy + bz, y =az + cx a4r
z=Dbx +ay, a¥a’+b’+c’+2abc FT AT
g7
(a) 2
()0

(b) - 1
(d)1



Rough Work
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